更多真题：深圳奥数网 sz.aoshu.com
[bookmark: _GoBack][image: ]
[image: ]
[image: ]
[image: ]
image4.gif
ENTRP SIS S

" b AR

HOF IR S AR B E R R ) 36
VU4EL A AR

1. aso
2 1887
a

38, 43, 44, 45 EOAERMEHRERKTLN AL, EHRHT

B 1560+2938=1411, 1607+3948=555, 2083+ 36947777, 1234+8765-9999.

o
s
][] []5 s
[ 1
als o] [n]7]w
5 is





image1.gif
HNE EREBOMFER" DEECFLFST
BRI A AR BE R RN TR

EEB:
VAL B RS RANER NG | g
2SS s

MERRE (A H)

. HEE D (B8, Stdo )

1.2010X0.25—210+4-___

2 SR — R AR B RS AL AU A LTI
S AR, R EF IR 26, 0 AT
.

3 P, S0P ECE, AR FARARBITE, K E”
T S i SR L R A - L L

&t kB
+ oy A @
T

4. LEHBABAEL 68: 59 WK L. 3= 1H-LIALL 98: 96 KA. Fl:
BEWIE W AR _

5. 2010 R, WL 1L 3, S, o 200K N AAMAT B RS L
i “E” Fep, AT SRS T 35,

YR A -1




image2.gif
= B (104, 3504
6. FEMRD, MEFERTHENET, RRET 8RR AR

W EF- AB AB
+ cp x _CD
EE FFF

7. M, EEREUA 3 MATRG= MR,
SERUIATA S = AT £

8. MR LBE, MBI L — YT 4 MOK. AR 10 i
RAETFAARE, AR N ARERY R X ITRRI AL A EMM 100 MEMAE
HEGBURKMT LY, &P X,

9. /MRS BB R IFE, BAE TS Lk A ORI, R 4 B
HENE 4 Qb ok X IIMELE, DRI 289, XMIMER___ Y.

10, —A ARG B2 MfE B2 Mt 3 0% BN
RS MR KRS AAKPRM R "

I (B8 12 43, 3660 41

1 MERE AR A LS TEFAZFHNTEX, Z7237 0, TF
4G, WLEMMT 6, SFLMT IR IS B, b =T Rm T
WHTFXTHNIME 60 DT MEOHELE E=F6Y 4, FEX
4. 4.

LA B2




image3.gif
12, 4 15 KD 1| IED BRI RUT L (B, 08 B4R I e T
WA LGRS, TEUL S

13, #5K 96 K 2 MUK MACAHAT XTI, SR — 3T, BEH 2 I
Ky —71 BJG AT E ANET . A& 4 BT 2 KK ATE.

14, U TIARAM A B B . WAt ESRAEAE, (B — AR
BMN, EARTH_ MA@ AL

B

15 4RSS RS B TP A 100 5E,
LRHTF350 T AbPUEREAE S 20 o EBAILE I XURER T SAME
5, AT AR B O E RIS LTS S, WHERRE RN S50 T,
WHBATSHE JG.

WL A -3




